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THEXy « T - FER - 5 Mo % LFENAL B G EHAm & T2 (BB
BV
= 1 199, 464, 073
T e R T
= 1 194, 948, 801
E¥LT
= 1 1,673, 801
R L
= 1 193, 275, 000
SRS (A) A5HA! JRMRERAAR 331, 5m FEA
£:30. 5m
e 5 1, 947, 600 9, 738, 000
SRS (B) A5HA! JRMRERAAR 331, 5m FEA
£:30. 5m
e 5 1,916, 100 9, 580, 500
SRS (C) A5HA! JRMRERAAR 334, 5m [EA
£33, 5m
e 43 2,017, 800 86, 765, 400
SRS (D) A5HA! JRMREAAAR 334, 5m [EA
£33, 5m
e 43 2,027, 700 87,191, 100
fFHFE R T
= 1 234, 024
TAT 7 MifZE T
HLE AR (A)
= 1 123, 446
& e (e - D) FLE)T9vTy RC-30 41 1V JE 110
mm
m2 39 708 27,612
- R (B - BRI RIEEFIRE A M-30 {1 =V E 70
mm
m2 39 643. 3 25, 088
FE (FaE - B FRAFERIEET AT, (13) %L 40m
m 1.4mPL E3. OmPL T
m2 39 1,814 70, 746
TAT 7 MifZE T
HLE AL (B)
= 1 34, 466
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
FE (FaE - B TRAFERIEET AT, (13) %L 40m
m 1.4mPL E3. OmLL
m2 19 1,814 34, 466
fxa L
= 1 76,112
RHEBESRT ny) BFE (180/205 X 250 X 600)
BB-1-3 (200) it - FH-3%
m 16 4,757 76, 112
HEE L
= 1 38, 492
RS B LT
= 1 33, 026
EhAERREIT TAT7VMERSERR 15emBL T
m 2 638. 8 1,277
LS TAT 7V MEREERR SHEERRE 15emPl
m2 58 547. 4 31, 749
TEHRALER T
= 1 5, 466
P TAT 7
m3 2 1, 558 3,116
ALy TAT 7 bk
m3 2 1,175 2, 350
G an
= 1 4, 242, 756
THAEK T
= 1 66, 608
- F - B T
= 1 910, 350
(ES e N
= 1 1,102, 600
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
R L
= 1 1, 994, 865
1R IE T
= 1 90, 163
KAREY-N L
= 1 78, 170
B TR
= 1 199, 464, 073
I L
= 1 17, 238, 840
HIBGERE
= 1 2,948, 032
TR
= 1 1, 135, 948
TR oy MR ST
= 1 1,072, 000
IERA TE Y
= 1 63, 948
BIGREsET (K3
= 1 1, 812, 084
HIBGERE (FE L)
= 1 14, 290, 808
Wi
= 1 216,702,913
B
= 1 49, 266, 132
T AT
= 1 265, 969, 045
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
— R

= 1 43, 210, 955

TS
= 1 309, 180, 000

THEBLF Y %H
= 1 30, 918, 000

TH#EG
= 1 340, 098, 000
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